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from pysimple import *
p = Problem(name="FE2&RIRE")

Alloy =

i = Element(set=Alloy)

Blend Set(value=('Lead",
= Element(set=Blend)
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Numerical

Set(value=range(1, 10), name='HIRNDAELEE")

'Tin'), name="HEREEESE")

Parameter(index=(i,j), name='1&RLLLE")
Parameter(index=1i, name="J X k')
Parameter(index=j, name='B1ELL3E")

Variable(index=i, 1b=0, name=';E&LLZE")

Sum(c[i]*x[i], 1)

= Sum(x[i], i) ==

= sum(r[i,j]*x[1], i) == b[]]

print(p)
status = p.solve()

print(p.objective)
print(p.x)
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from pysimple import *
p = Problem(name="'Z|Xf7E ")
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JPPair = Set(dim=2) # Job({t=)& People( AN)DFEEH (BR)
jp = Element(set=JPPair)
X = BinaryVariable(index=3jp)
cost = Parameter(index=jp, name="J X k')
jyukuren = Parameter(index=jp, name='Z\EE")
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p += sum(x[jp], jp(1)) <= 3

# FE
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jpl = ElementOf(jp, jp(2)<['FEF', 'ZHET', "EHL'])

p += Sum(x[jpl], jpl(2)) ==
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